

Fig. 1 Structure of porphine.



Fig. 2 Chemical structure of chlorophyll (Chls).



Fig. 3 Chemical structure of heme.



Fig. 4 Structure of sodium porphyrin.
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Fig. 5 Mechanism of PDT action.
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Fig. 6 Porphyrin photosensitizer structure modification to enhance PDT. The redshift of the absorption spectral region of the photosensitizer enhances the penetration of deep tissues
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Fig. 7 Porphyrin self-assembled nanoparticles restrict porphyrin aggregation to enhance PDT. Advantages: a. Limited tetraphenylporphyrin precipitates b. High 1O2 generation efficiency
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Fig. 8 Nanomaterials modified with porphyrin photosensitizers to enhance PDT. Enhanced light capture efficiency increases 1O2 production
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Fig. 9 FRET system enhances PDT by improving the efficiency of light energy capture
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Fig. 10 Two-photon excited quantum dots FRET system enhanced PDT. Large two-photon absorption cross section and deep tissue penetration
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